Bid #OPN2128319B1 - Utility Statement Services

Creation Date Apr 1, 2024 End Date May 2, 2024 2:00:00 PM EDT

Start Date Apr 11, 2024 8:17:06 AM EDT Awarded Date Not Yet Awarded

OPN2128319B1–01-01 Utility Statements, Regular, with Envelope Printing and Mailing									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
InfoSend [Ad]	First Offer - \$0.119	1050000 / each	\$124,950.00	Υ	Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
TC delivers	First Offer - \$0.1689	1050000 / each	\$177,345.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OPN2128319B101-02 Utility Statements, Regular, No Return Envelope (E-Bill/Auto-Pay accounts)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
InfoSend [Ad]	First Offer - \$0.099	474000 / each	\$46,926.00	Υ	Υ				
Product Code:		Supplier Product Code							
Agency Notes:		Supplier Notes:							
TC delivers	First Offer - \$0.1586	474000 / each	\$75,176.40		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OPN2128319B101-03 Subsequent Pages (to Statement) Printing and Mailing								
Supplier	Unit Price	ce Qty/Unit Total Price Attch.						
InfoSend [Ad]	First Offer - \$0.076	60000 / each	\$4,560.00	Υ	Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
TC delivers	First Offer - \$0.0851	60000 / each	\$5,106.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

OPN2128319B101-04 Additional Inserts								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TC delivers	First Offer - \$0.051	370000 / each	\$18,870.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
InfoSend [Ad]	First Offer - \$0.07	370000 / each	\$25,900.00	Υ	Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OPN2128319B101-05 Manual letters/customer notifications (no statement)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TC delivers	First Offer - \$0.093	120000 / each	\$11,160.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
InfoSend [Ad]	First Offer - \$0.113	120000 / each	\$13,560.00	Υ	Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OPN2128319B101-06 Technical Services (Initial Setup) all Exhibits includes design, setup, rework						

Broward County Board of County Commissioners

OPN2128319B1

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
InfoSend [Ad]	First Offer - \$0.00	1 / lump sum	\$0.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: There is no charge for ir	:		
TC delivers	First Offer - \$250.00	1 / lump sum	\$250.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

OPN2128319B101-07 Technical Service Supplier	Unit Price		Total Price	Attch.	Docs
TC delivers	First Offer - \$150.00	40 / hour	\$6,000.00	71000111	Y
Product Code:	11136 01161	Supplier Product Code			<u> </u>
Agency Notes:		Supplier Notes:			
InfoSend [Ad]	First Offer - \$150.00	40 / hour	\$6,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Cost per hour is only for charge for initial setup a	future projects after "Go	o Live". Ther	re is no

OPN2128319B101-08 Color Paper Stock Incr	DPN2128319B101-08 Color Paper Stock Incremental Charge (for use of color paper stock)								
	Unit Price		Total Price						
	-								
Product Code:	Supplier Product Code	:							
		Supplier Notes: Facility Myers FL 33912; 1406 C Palma Ave, Anaheim CA 75006; 41 Rogers Road	entre Circle, Downers Gr 92807; 1624 W Crosby F	ove IL 60515	; 4240 E. La				
TC delivers	First Offer - \$0.05	2500 / each							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Facility Complete Address: 7002 parke east blvd Tampa FL 33610							

OPN2128319B101-09 Newsletter, Semi-Annual, Color Printing, Folding/Inserting and Mailing								
	Unit Price		Total Price					
	-							
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
InfoSend [Ad]	First Offer - \$0.072	120000 / each						
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OPN2128319B101-10 Water Quality Notice/Insert, color printing (8x11 page white paper,double sided)								
	Unit Price		Total Price					
	-							
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
TC delivers	First Offer - \$0.025	360000 / each						
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
nfoSend [Ad]	First Offer -				Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Myers FL 33912; 14C Palma Ave, Anaheim 75006; 41 Rogers Rc 13891 Jetport Loop, 1406 Centre Circle, I 4240 E. La Palma Av	cility Complete Address: 1389 06 Centre Circle, Downers Groven on CA 92807; 1624 W Crosby Roa ond Haverhill, MA 01835; Fort Myers FL 33912; Downers Grove IL 60515; e, Anaheim CA 92807; d #128, Carrollton TX 75006; verhill, MA 01835;	e IL 60515; 4	240 E. La

•	

Supplier Totals			
		\$238,891.00 (11/11 items)	
clar	nk you for the opportunity to participate in this project. fication regarding any aspect of our response please cal Send, 239-247-4419 or marty.b@infosend.com	•	
Agency Notes:		Supplier Notes: Thank you for the opportunity to participate in this project. Should you have questions or require clarification regarding any aspect of our response please call Marty Bielecki, Sales Executive at InfoSend, 239-247-4419 or marty.b@infosend.com	
TC delivers		\$311,072.40 (10/11 it	tems)
Ph 8	emi spiess emi.spiess@tcdelivers.com 13-280-4706 813-882-3648	Address 7002 Park east blvd Tampa, FL 33610	
Agency Notes:		Supplier Notes:	